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gbooobd Ruby OO OODOOOOOODOODOOODOODOOO

2.1.2 Processing
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2.2.2 VerletUOOOOOO
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gogbobobooogobobodo

ri(t+h) +ri(t —h) = 2ry(t) + th +O(h*)
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U = u(ri2) + u(riz) + -+ + u(ras) Z Z u(rij) (2.10)
i=1 j=i+1
0000000 w(ry;)0004,;0000,0000000000000000
O0000w(r) 0000000000000 O0000D0D0DOOoDDOOCOOOOd
0000000000000 000000000000000w(r) 000000
goo-00000000000000 - 000000000000000000
OO0 r-r00odobooooooooboooonooobooooooooonod
goooooodooioooonooooodooooooooooooog
godoooobooobooobooobooobooooooooooooooonod
0oooooodooooodooooooooooooooodr-oooon
godoooooooooooboooboooboooooooooooooon
0000000000000 0000D00000000000O0O0ODO0O0O00 u(r)
gobdoooboooooobooooooobooono 22300000000
godooooooooon
oooooooooo--2o00000000000000000000000
0o0ooooooooud e edod 2000000000000
O0r=00u(r)=000007>30000000000000000 0 u(r)
0000000000000 000000000 r=2-00000000000
0000000000000 000000O0O0ODO0O00OoOoooooOO (2.10)0
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ggbbobuoooobbboooob

8’/’@' 8’/’@'
= — 2.12
87’1 aT’ij ( )




T ;

021:0000000000000000
oo0ooooooorso
Ou( rw (97"2] ou( T’U Tij
2.13
Z a,rl_] 7”2 Z 87”2] TU ( )

gobbOry;, 00000000

D) _ o %y (77} (214)

ggon

2.3 RubyO0 OO MDOOO

Ruby OODOO MDOODOOOOOODODODODOOOOO

23.1 000000

gobooboboobobooooob im20bbodb xbgyboob oo
dddooodoouo im4duogogsg1izoooooooboboobobobobobn
O0000000OOspeed() 0000000 400000000000000000O0O
Ospeed()DO00O0OODOOOOO

$init = [1,[1,1], [speed(),speed()],[2,3,5,12]1],
[2,[2,1], [speed() ,speed()],[1,4,6,7]1],

[11,[0,2]1],



(12, [0,1]]

0 for 1 in 0..11 do
$x[i] = $init[i] [1] [0]
$y[i] = $init[i] [1][1]
$tmp << [$x[i], $yl[il]

end

gubdoubgoboobbbooboobboboboobdodbvxyvy OO
speed() 00000000000 DO0O00D0O0OD0ONax,ay JOOO0ODOOOO
ggbboobuoggbobobobooobbob

for i in 0..3 do

$vx[i] = $init[i] [2] [0]
$vy[i] = $init[i] [2] [1]
$ax[i] = 0

$ay[i]l = 0

end

gogbobbuooooboboooobood

232 0OJ00O0O-O000000O0O0O0O00OO

gogobboobobooooobbobbuoooooobbbbouooooon
googo

r2 = $dx*$dx + $dy*3$dy
1/r2

rm2*rm2*rm2

kk = 24xrm6* (2*rm6-1)*rm2
fxij = kk*$dx

fyij = kkx$dy

$dx = fxij

$dy = fyij

rm2

rm6

0000 forcel OO Verlet OOOOOOOOODOOO

2.3.3 Verlet OOOOOOO

Verlet 000 0O0O0OD0O0ODOOO0ODOODOODOODOODOODODOOOOOOOOO
O00D0O000bO0Db0bO00O0o0bOobDOdbOOforcel DODOODOOO dx,dy
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goobbibbl exay UODODODDODOOOOOOOOOODOOOO0 300000
gogoood

forcel()
$ax[i] = $ax[i] + $dx
$ay[i] = $ayl[i]l + $dy

000 force2 D0 0000OO0ODOODOO

for i in 0..3 do
$x[i] = $x[i] + $vx[i]*$dt + O0.5xPax[i]*$dt2
$yl[i] = $yl[i] + $vylil*$dt + 0.5*$ay[i]*$dt2

$vx[i] = $vx[i] + 0.5*$ax[i]*$dt
$vyl[i]l = $vyl[i]l + 0.5%Bay[i]*$dt
end
force2()
for i in 0..3 do
$vx[i] = $vx[i] + 0.5*x$ax[i]*$dt
$vyl[i] = $vyl[i] + 0.5%$ay[i]*$dt
end

Obd verlet 0O OD0OO0ODOO0DOOD0ODOODOOODOO0ODOO xyOUoooo
ggdoooooobbbbbbbodooooooobobbbbbboboouoo
gobbobuoooobbboooobobbuoooobobboooooboo

U0o00booobobo0bO0Processing DOO0DODO0OO0O tsvODOOODOO
gogooobod

2.4 MDU Processing ] 00000

RubyUOOOOODOOOOOODOOOODLOOOOODOOOOOON Processing
gbooobobogbooooboobobobobuobobubdbdidProcessing
gogobooboboboodooooooboboobbosgobbbobbboooga
godgg20dd 2b0bbbuooooooobbbobbbbbooooood
gogboboboooobboboooobobobooogooon
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OO0D000D00000 FleatTable DD ODODDOOODDOOOOOODOOODOOODO
gboobobdbddata_point 0000000000000 O0OO0OOO0O0O
gooobuoboobonobobb size0D0O0O0OOO0OD 400000000



data = new FloatTable("OOOOO");
for (int row = 0; row < data_row-1; row++) {
for (int col = 0; col < data_col; col++) {
data_point [row] [col] = sizex*data.getFloat(row, col);

242 00000

MDOOOODOODOOOobDOOobOoOoOoobOoobooobboobooobooo
gogobobobobboooooooboboobbboooooobbobbooooood
gobbobuoooobbbuooobobbboooobbbtuz0b0booo

for (int i=0;i<28;i++){
for(int j=0;j<12;j++){

xa = data_point[i] [j*2] - data_point[i+1] [j*2];
ya = data_point[i] [j*2+1] - data_point[i+1] [j*2+1];
za = xakxa + yaxya;

z[1]1 [j] = sqrt(za);

}
for(int i=0;i<12;i++){

xa = data_point[29] [i*2] - data_point[0] [i*2];
ya = data_point[29] [i*x2+1] - data_point[0] [i*2+1];
za = xa*xa + yaxya;

z[29] [i] = sqrt(za);

243 UO00O0OO0OOOOOOOOLDOODOOOOO

000000 z0000000000D00D0000O0!00D000for0O0O0OO
00 z00000000000/00000000000O0 25000000 ROOO
OoboooooobobOt-(nz-z_min) /) OO0O0O0DODOOOOOOODOOO 10
O000000000000000Ofl(R,0,B) 00000000 ODOOOOOODO
000000000000 00000md 2.4.30count = (count+1)’%(data_row-1)
0000Oo0000o0ooOo0o0o0ooooooon

for (int i=0;i<29;i++) {
for(int j=0;j<12;j++){



255

& B

EE

022 00000000000000

if (z_max<z[i] [j]){
z_max=z[i] [j];}
if (z_min>z[i] [j]){
z_min=z[i] [j];}
}
}
1l = z_max-z_min;
for (int i=0;i<12;i++){
nz = z[count] [i];
R = int(255%(nz-z_min)/1);
B = int(255%(1-(nz-z_min)/1));
fil1(R,0,B);
ellipse(data_point[count] [i*2]/2+10,data_point [count] [i*2+1]/2+10,20,20.
}

count = (count+1)%(data_row-1);

2.5 pseudo VASP [ Processingl 0O 00O

pseudo VASPOODOOODOOODOO OUTCAROO 300000O0OOODOO
goggobbbobbooags3spgbbbobbbobuoooooobbb 2000
gg3bbobougdbobobboogubooboboooobn
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2.5.1 pseudoVASP

0000000 pseudo VASPOOODOOODODODOODODOOpseudo VASP O
VASPOOOOGOOOOoOooooooODODODO0O0O0ODO0O000000o0oooooono
00000000000 DO0DOO0ODO0ODbDODbOOD0OO0 pseudo VASP O 0O O Lennard-
Jones DO DOOOO0O0O0O0OOOODODOODODOODOODOODODOODODOD
O00000000DO0D000D0O0D000DO000b00Opseudo VASP OO OO
00000 VASPOOODODODOODOOODOODOO

252 QJOoO0ooood
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O00000O pOOD00ODO depth 000 1000000000 0ODO0ODODOO
O000b0obuobobU0 nOb0Ob0O depth D00 1000000000DO00OO0
gogbooboood

camera(0, 0, depth/20, 0, 0, 0, 0, 1, 0);

if (mousePressed) {
mvX=mouseX-o0ldX;
mvY=mouseY-o0ldY;
oldX=mouseX;
oldY=mouseY;

}

else {
mvX=0;
mvY=0;
oldX=mouseX;
oldY=mouseY;

}

nowX += mvX;

nowY —-= mvY;

if (keyPressed) A
if (key=="p’){
depth+=10;
}
else if (key==’n’){
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depth-=10;
}
}
rotateX(radians(nowY/3));
rotateY(radians (nowX/3));
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el OO

Ruby MD

include Math

def speed()
10*rand () / (10**12)-1
end

$init = [1,[1,1], [speed(),speed()],[2,3,5,12]],
[2,[2,1], [speed() ,speed (0], [1,4,6,71],
[3,[1,2], [speed(),speed()],[1,4,10,11]],
[4,[2,2], [speed(),speed(],[2,3,8,9]],
[5,[1,011,
[6,[2,0]1],
[7,[3,11],
[8,13,211,
[9,I[2,3]1],
(10, [1,31],
[11,[0,2]1],

[12,[0,1]1]
$x = []
$y = [1
$ax = [1
$ay = [
$vx = [1
$vy = [
$dt = 0.01
$dt2 = $dt*$dt
$tmp = []

def forcel()
r2 = $dx*$dx + $dy*3$dy
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rm2 = 1/r2

rm6 = rm2*rm2*rm2

kk = 24xrm6* (2*rm6-1)*rm2
fxij = kk*$dx

fyij = kk*$dy

$dx = fxij
$dy = fyij
end

def force2()

for i in 0..3 do

$ax[i] = 0
$ayl[i] = 0
end

for i in 0..3 do
for j in 0..3 do
jj = $init[i][31[j]1-1
$dx = $x[1] - $x[jj]
$dy = $y[i] - $y[jj]
forcel()
$ax[i] = $ax[i] + $dx
$ay[i]l = $ayl[i]l + $dy
end
end

end

def verlet()
for i in 0..3 do
$x[i] = $x[i] + $vx[i]*$dt + 0.5*Pax[i]*$dt2
$y[i]l = $yl[i] + $vyl[il*$dt + 0.5*$ay[i]*$dt2

$vx[i] = $vx[i] + 0.5*$ax[i]*$dt
$vy[i]l = $vyl[i] + 0.5%$ay[i]*$dt
end
force2()
for i in 0..3 do
$vx[i] = $vx[i] + 0.5*$ax[i]*$dt
$vyl[i] = $vyl[i] + 0.5%$ay[i]*$dt
end

end
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def show()
for i in 0..11 do
$tmp << [$x[i],$y[i]]
end
end

for i in 0..11 do
$x[i] = $init[i][1] [O]
$y[i] = $init[i] [1] [1]
$tmp << [$x[i], $y[il]

end

\begin{enumerate}
\item O OOOOO
\end{enumerate}

for i in 0..3 do

$vx[i] = $init([i] [2][0]
$vy[i] = $init[i] [2] [1]
$ax[i] = 0
$ay[i]l = 0

end

for i in 0..29 do
for j in 0..3 do
verlet()
end
$tmp << show()
end
$tmp.delete(0..11)

def dummy(file,n)
a =0.to_s
for i in 0..n-1 do
a += "\t" + 0.to_s
end
file.print a+"\n"
end
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data = []
1 = $tmp.length
file = open("sample.tsv","w")
dummy (file,24)
for i in 0..1-1 do
if i%12==0 && i!=0 then
file.print "\n"
file.print O.to_s+"\t"
end
if i==0 then
file.print O.to_s+"\t"
end
for j in 0..1 do
file.print $tmp[i] [j].to_s+"\t"
end
end

Processing FloatTable

class FloatTable {
int rowCount;
int columnCount;
float[][] data;
String[] rowNames;

String[] columnNames;

FloatTable(String filename) {
String[] rows = loadStrings(filename);

String[] columns = split(rows[0], TAB);

columnNames = subset(columns, 1); // upper-left corner ignored
scrubQuotes (columnNames) ;

columnCount = columnNames.length;

rowNames = new String[rows.length-1];
data = new float[rows.length-1][];

// start reading at row 1, because the first row was only the column heads

for (int i = 1; i < rows.length; i++) {
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if (trim(rows[i]).length() == 0) {
continue; // skip empty rows

}

if (rows[i].startsWith("#")) {
continue; // skip comment lines

// split the row on the tabs
String[] pieces = split(rows[i], TAB);

scrubQuotes (pieces);

// copy row title

rowNames [rowCount] = pieces[0];

// copy data into the table starting at pieces[1]
data[rowCount] = parseFloat(subset(pieces, 1));

// increment the number of valid rows found so far
rowCount++;

}

// resize the ’data’ array as necessary

data = (float[][]) subset(data, 0, rowCount);

void scrubQuotes(String[] array) {
for (int i = 0; i < array.length; i++) {
if (array[i].length() > 2) {
// remove quotes at start and end, if present
if (arrayl[i].startsWith("\"") && array[i].endsWith("\"")) {
array[i] = array[i].substring(l, array[i].length() - 1);
}
}
// make double quotes into single quotes
array[i] = array[i].replaceAl1("\"\"", "\"");
}

int getRowCount () {
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return rowCount;

String getRowName(int rowIndex) {
return rowNames [rowIndex] ;

String[] getRowNames() {

return rowNames;

// Find a row by its name, returns -1 if no row found.
// This will return the index of the first row with this name.
// A more efficient version of this function would put row names
// into a Hashtable (or HashMap) that would map to an integer for the row.
int getRowIndex(String name) {
for (int i = 0; i < rowCount; i++) {
if (rowNames[i].equals(name)) {

return i;

}
//println("No row named ’" + name + "’ was found");
return -1;

// technically, this only returns the number of columns
// in the very first row (which will be most accurate)
int getColumnCount() {

return columnCount;

String getColumnName(int colIndex) {
return columnNames[colIndex];
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String[] getColumnNames() {
return columnNames;

float getFloat(int rowIndex, int col) {
// Remove the ’training wheels’ section for greater efficiency
// It’s included here to provide more useful error messages

// begin training wheels
if ((rowIndex < 0) || (rowIndex >= data.length)) {
throw new RuntimeException("There is no row " + rowIndex);
+
if ((col < 0) || (col >= datalrowIndex].length)) {
throw new RuntimeException("Row " + rowIndex + " does not have a column
}

// end training wheels

return datalrowIndex] [col];

boolean isValid(int row, int col) {
if (row < 0) return false;
if (row >= rowCount) return false;
//if (col >= columnCount) return false;
if (col >= datalrow].length) return false;
if (col < 0) return false;
return !Float.isNaN(datal[row] [col]);

float getColumnMin(int col) {
float m = Float.MAX_VALUE;
for (int i = 0; i < rowCount; i++) {
if (!Float.isNaN(datal[i][col])) {
if (datal[i][col] < m) {
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m = datal[i] [col];

float getColumnMax(int col) {
float m = -Float.MAX_VALUE;
for (int i = 0; i < rowCount; i++) {
if (isValid(i, col)) {
if (datal[i][col]l > m) {
m = datal[i] [col];

}

return m;

float getRowMin(int row) {
float m = Float.MAX_VALUE;
for (int i = 0; i < columnCount; i++) {
if (isValid(row, 1)) {
if (datalrow][i] < m) {

m = datalrow] [i];

3

return m;

float getRowMax(int row) {
float m = -Float.MAX_VALUE;
for (int i = 1; i < columnCount; i++) {
if (!Float.isNaN(datal[row] [i])) {
if (datalrow][i] > m) {
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m = datalrow] [i];

float getTableMin() {
float m = Float.MAX_VALUE;
for (int i = 0; i < rowCount; i++) {
for (int j = 0; j < columnCount; j++) {
if (isValid(i, j)) {
if (datalil[j] < m) {
m = datali] [j];

+

}

return m;

float getTableMax() {
float m = -Float.MAX_VALUE;
for (int i = 0; i < rowCount; i++) {
for (int j = 0; j < columnCount; j++) {
if (isValid(i, j)) {
if (datalil[j] > m) {
m = datali] [j];

Processing MD2D
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FloatTable data;

float[][] data_point = new float[30][24];//tsv_gyou need improve number [row] [
int size=400;

int count=0;

int maxFrame=20;

int data_row=30; //contain first O_row

int data_col=24; //not contain first 0O_col
int R, B;

float xa=0, ya=0, za=0;

float 1, z_max, z_min, nz;

float[][] z = new float[30][12];

void setup() {
size (800, 800);
colorMode (RGB, 100);
background (90) ;
translate(width/2,height/2,0);
translate(0,size*zoom,size*zoom) ;
frameRate(10);
data = new FloatTable("sample.tsv");
for (int row = 0; row < data_row-1; row++) {
for (int col = 0; col < data_col; col++) {

data_point[row] [col] = sizex*data.getFloat(row, col);

}
for (int i=0;i<28;i++){
for(int j=0;j<12;j++){

xa = data_point[i] [j*2] - data_point[i+1] [j*2];
ya = data_point[i] [j*2+1] - data_point[i+1] [j*2+1];
za = xakxa + yaxya;

z[i] [j] = sqrt(za);

}

for(int i=0;i<12;i++){

xa = data_point[29] [i*2] - data_point[0] [i*2];
ya = data_point[29] [i*2+1] - data_point[0] [i*2+1];
za = xakxa + yaxya;

z[29] [1] = sqrt(za);

28



z[0] [0];
z[0] [0];
for (int i=0;i<29;i++) {

for(int j=0;3j<12;j++){
if (z_max<z[i] [j1){

z_max=z[i] [j];}
if (z_min>z[i] [j1){

z_min=z[i] [j];}

by

Z_max

Z_min

}

1 = z_max-z_min;

void draw() {
background (90) ;
for (int i=0;i<12;i++){
nz = z[count] [i];
R = int(255*(nz-z_min)/1);
B = int(255%(1-(nz-z_min)/1));
fil11(R,0,B);
ellipse(data_point[count] [i*2]/2+10,data_point [count] [i*2+1]/2+10,20,20.
}
count = (count+1)%(data_row-1);

}
Processing VASP3D

int mvX=0, mvY=0, 01ldX=0, 01dY=0, nowX=0, nowY=0;
int frame;

FloatTable data;

float[][] data_point = new float[10] [96];//tsv_gyou need improve number [row] [«
float depth=20000.0;

int size=400;

int count=0;

int maxFrame=20;

int data_row=10; //contain first O_row

int data_col=95; //not contain first O_col

int R, B;

float zoom=1.0,x=0.0;

float xa=0, ya=0, za=0, dis=0;

29



float 1, dis_max, dis_min, ndis;
float[][] disa = new float[10][32];

void setup() {

for

size (800, 800,P3D);

colorMode (RGB, 100);

background (90) ;

translate(width/2,height/2,0);
translate(0,size*zoom,size*xzoom) ;

frameRate (10);

data = new FloatTable("sample.tsv");

for (int row = 0; row < data_row-1; row++) {

(int col = 0; col < data_col; col++) {
data_point [row] [col] = sizex*data.getFloat(row, col);

}
for (int i=0;i<9;i++){
for(int j=0;j<32;j++){
xa = data_point[i] [j*3] - data_point[i+1] [j*3];
ya = data_point[i] [j*3+1] - data_point[i+1] [j*3+1];
data_point[i] [j*3+2] - data_point[i+1] [j*3+2];
dis = xa*xa + yaxya + zax*za,
disal[i] [j] = sqrt(dis);

Za

}
for(int i=0;i<32;i++){

xa = data_point[9] [i*3] - data_point[0] [i*3];

ya = data_point[9] [i*3+1] - data_point[0] [i*3+1];
data_point [9] [i*3+2] - data_point[0] [i*3+2];
dis = xa*xa + yaxya + za*za,
disa[9] [i] = sqrt(dis);

Za

}
dis_max = disa[0][0];
dis_min = disa[0][0];

for (int i=0;i<10;i++) {
for(int j=0;j<32;j++){
if (dis_max<disalil[j1){

dis_max=disali] [j];}

if (dis_min>disalil[j1){
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dis_min=disali] [j];}
}
}
1 = dis_max-dis_min;
}
void draw() {
background (90) ;
camera(0, 0, depth/20, 0, 0, 0, 0, 1, 0);
if (mousePressed) {
mvX=mouseX-o0ldX;
mvY=mouseY-o01ldY;
oldX=mouseX;
oldY=mouseY;
}
else {
mvX=0;
mvY=0;
oldX=mouseX;
oldY=mouseY;
}
nowX += mvX;
nowY -= mvY;
if (keyPressed) |
if (key=="p’){
depth+=10;
}
else if (key=="n’){
depth-=10;
}
}
rotateX(radians(nowY/3));
rotateY(radians (nowX/3));

for (int i=0;i<32;i++){

ndis = disalcount] [i];

R = int(255*(ndis-dis_min)/1);

B = int(255%(1-(ndis-dis_min)/1));
fil1(R,0,B);

pushMatrix () ;
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translate(data_point [count] [i*3] ,data_point [count] [i*3+1],data_point [cot
sphere(15) ;
popMatrix();

}

count = (count+1)%(data_row-1);
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